Respiratory Emergencies PLS Exam

Name

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

1) Which of the following does NOT occur during inspiration?
A) Diaphragm relaxes B) Chest cavity increases in size

C) Diaphragm lowers D) Intercostal muscles contract

2) Which of the following is TRUE concerning expiration?
A) The chest cavity increases in size
B) The ribs move upward & outward
C) The intercostal muscles contract to force air out of the lungs

D) The diaphragm moves upward

3) Which of the following is NOT a sign of difficulty breathing?
A) Inability to speak full sentences
B) Patient lies on his side with his knees drawn up to his chest
() Coughing

D) Decreased level of consciousness

4) Which of the following is an indicator of adequate artificial ventilation in an adult patient?
A) Pulse rate slows down
B) Retractions between the ribs with each ventilation
C) Pulse rate increases

D) Bulging of the tissues between the ribs with each ventilation

5) Which of the following respiratory rates is NOT considered to be in the normal range for an adult?
A)20 B) 8 C) 12 D) 16

6) When you hear wheezes while auscultating your patient's breath sounds, which of the following is
most likely the cause?

A) There is fluid in the lungs
B) There is mucus in the air passages
C) The lower air passages in the lungs are narrowed

D) There is an upper airway obstruction



7) Which of the following inhalers would NOT be used to reverse an asthma attack? 7)

A) Albuterol B) Proventil
C) Ventolin D) Beclomethasone
8) Your patient is a 60-year-old female with a sudden onset of severe difficulty breathing. She has 8)

no prior history of respiratory problems. Which of the following should be done prior to applying
oxygen by non-rebreather?

A) Obtain a history of the present illness

B) Listen to the patient's breath sounds

C) Check the patient's oxygen saturation level
D) Nothing

9) Which of the following is a benefit of using small volume nebulizers for the treatment of 9)
respiratory problems?

A) Nebulized medications have fewer side effects than aerosolized medications from an inhaler
B) They allow greater exposure of the patient's lungs to the medication
C) They will work, even when the patient's ventilations are inadequate

D) The patient can easily carry this equipment in a purse or pocket

10) Which of the following patients does not necessarily have inadequate breathing? 10)
A) A patient's whose breath sounds cannot be heard
B) A patient with cyanosis
C) A patient with a slightly irregular respiratory rhythm
D) A patient with agonal respirations



